
TRAMPOLIININ TIKKAAT
Kokoamisohjeet

HUOM：

Aikuisen kasattava.

Osaluettelo
       
Nro kuvaus määrä
    1  Jalka     2
    2  Askelma       2
    3         Jalan yläputki            2
    4  Runko   1
    5         Päätykorkki                   2 
    6  Ruuvi M6x35      4 
    7  Aluslevy 6mm   8 
    8  Lukkomutteri M6      4 
    9  Ruuvi M6x45      4 

4   10  Neliömutteri M6      

9

10

3

12

9

10

7

5

8 7

10

7

8 7

44

6

934*520mm 1034*520 1134*520



TRAMPOLIININ TIKKAAT
Kokoamisohjeet

1

!

!

1

4

2

6

6

4

4

1
1

2

3

1

3

1

2

9

2

1134mm934mm 1034mm



Övre fot

Ändhatt

STEGE TILL STUDSMATTA 
Monteringanvisningar

OBS：

Bör monteras av en vuxen.

Dellista
       
Nr Beskrivning Mändg
    1  Fot     2
    2  Steg       2
    3                2
    4  Ram   1
    5                            2 
    6  Skruv M6x35      4 
    7  Bricka 6mm   8 
    8  Låsmutter M6     4 
    9  Skruv M6x45     4 

4   10  Fyrkantig mutter M6      

9

10

3

12

9

10

7

5

8 7

10

7

8 7

44

6

934*520mm 1034*520 1134*520



STEGE TILL STUDSMATTA 
Monteringanvisningar

1

!

!

1

4

2

6

6

4

4

1
1

2

3

1

3

1

2

9

2

1134mm934mm 1034mm


	页 1
	页 2
	IM 102116247 adjust ladder 2.pdf
	页 1
	页 2


